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L. B - 6pr=a,(p> 0, RE BB (x, 1) 2 AR  (10%)

2. x=acostr y=bsint R \)dylds; 2% t = /285 » dylds =1 + (10%)

3. B[ flde=F(x). BE 1)[ f(v-a)de=F(r-a) » a eR -
2)[ fer)de=Fey)ty »y 20« (10%)

4. B Sfx, y) =2 +xy -y « KK A, WL, -2)H9%RE(Taylor) R, -
(10%)

5. Evaluate [*xTv3de. (10%)

6. A function £ R— R is defined by

~x* whenx<0Oand
Fl)=1 ",
X when x > 0.

Determine whether 1) fis continous at 0, 2) 1'(0) exists. ( IOZ )
7. Let {x,} (n1=1,2,..) bean increaéing sequénce, and assume that it is
bounded from above. Show that the least upper bound b of the set

- {x,} (n=1,2, ..) is the limit of the sequence. (20%)

8. Show that m%:z.(m%)
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